EARAZROREIERT — 2 N— XBISY —F 202053858 (k) 14M@1IE4H

Q> %—f C2AEA+t EREE R
[x&4£] 1 % :1,000,000 @ ~ 23 :380,000  ~ 337 :250,000 ™ ~ 4 3%&:150,000 @ ~ 5 7 :120,000 M
E BB RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF [SIEH | AR | HE | NG FIB) / BE / £ENS
117110l E=7L =t L # 5 | BEE 1:(3_1).5 12-12-0-5 | 38.3| — | 2 | 488 igmﬁ% (#a5)
L:v=NFZXH2F— B:TI73xy bT—FK -2 BAILBSS
3, s 4 | BEHAE 1:32.1 5-5-4-4 | 40.5| — 1 451 | AAAZ (1igD)
1 3 FIEERS 54.0 @ © |fEeAESR
L:Zh—9 BT —Traxtr o =i
3 4| KT MFTEZR # 5 %gﬁ?‘gﬁ 1(:33/%4.)3 4332 (410 — | 3 <4+2313) gm%— )
A2:Stormy Atlantic #:Amazon Lily Patchen Wilkes Fa
4l7lg| EVTFETE-5 # 5 ﬁ%lﬁﬁé 1(73%::)3 1-1-1-1 | 41.4| — | 4 | 456 ;}%g%gpﬁu)
RiFkLIALO— B:TFO-T 14— U e
5lgl| A—/t—g<Fr> 44 »fg#ﬁk 1:(322).7 2-2--3 | 41.6| — 7 | 491 E;@i (i)
RHYIRT4 I BHIT LA K- (+3) BH &
6 o | B HAN #o4 | R (12313/22) 8-6-65 |41.3| — | 6 | 466 ‘%éj?;;lﬁ:ggﬁ
QAL R TLY SR BHFIRRY— b M| pstho7—14
71111 | F>F=X521) #o4 | Lemt 1(:33/321.)4 11-11-11-10 40.2 | — | 8 | 459 éﬁgfﬁ (i)
QN=5—2yT BT —XIRb | mmags
8|55 T KA LX o4 gﬁ*ﬂﬁ 1( 73?:;1 9-8-8-9 |40.8| — | 10 | 445 ;J‘Cﬁzﬁzi (Gr#n)
R:TUYHAZXICR B:Ta-FrO-—H 0 | Emiis
9 7la-710E7 5 gfg’fé% 1(:33/:1.)6 7778|416 — | 9 | 43 ;ggzﬂg (I11i)
RIDINATA—H— BF1FTL Ry —H 9 | mems
w0lsl | HyEn=s i 4 Ef_‘%x (11:313/.28) 10-10-10-11] 40.6 | — | 11 | 443 dﬂ{ggg (1ies)
R:yNYFLH—5 B:aviO—F 2 e e
1118l12| 2H7F -2~ #o4 | HEER (11:314/.21> 3-4-4-5 |42.7| — | 5 <4+733) ﬁﬁgﬁ (1)
R:Xw—h77NAL BAFAIF—L— REYS
" 2= 4 3%@& 1:(375).6 6-9-12-12 | 42.4| — | 12 | 474 Egﬁ%& (@)
Qb= Ta—F B b—tiEry R 2 | 5pst 1x7¢77-4
@ 11— S —EBIEf
| 3=7r= 9,11,12,4,3,8,7,2,5,6,1,10
2o=7F= 9,11,4,12,3,2,7,5,8,6,1,10
§a=3r= 9,11,4,(3,12),2,7,5,10,6,1,8
43—F— 9,4,11,3,(2,10,12),7,5,1,6,8
[ /N5
B OB 10 360MH 74K 3-10 170 P & 3-7 230H &8 3-4-10 450MH
% B 10 120M 4-10 300 B B 7=3 830/ B 10-3-4 3,290
3 100H 3-4 240 B & 3-10 280
4 130M BB 10-3 950

ARICOVWTRDTEEERROODE. TR LI,



